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201 et 2,100 1,200 900
01 AtS 22l 2,100 1,200 900
O8s=2s tisE2 100,000& = 1404 1,400
Ol =JI=XE=+ 96,000& * 504 480
OANIX BALE27Y 20,000& * 1104 220
202 O4Hl 18,000 16,200 1,800
02 EAHNYI 18,000 16,200 1,800
Og =2l 150,000& = 10& » 123 18,000
FUXNXHE2S 43,310 43,310 0
FUEH2SXE 43,310 43,310 0
301 EtEA = 43,310 43,310 0
05 S-cl-eEEs248=3 43,310 43,310 0
0= amse 39,360
ollZsd 200,000& = 128 « 12& 28,800
cal= 200,000& * 1298 * 23l 4,800
oglol ALY
20,000 * 12% * 23] = 123 5,760
Ogtd =4 25,000 * 799 = 23l 3,950
=SS AP S| 120,000 120,000 0
FO=JAAAMNY 120,000 120,000 0
AREFU=SEAY 120,000 120,000 0
401 A EHI L2048 120,000 120,000 0
01 Al&H| 120,000 120,000 0
OLA2F0=JAAMNY 120,000,000& * 14 120,000
HY2IHH(SHES) 21,940 22,600 A 660
Jl=&Hl 21,940 22,600 2660
Jl=&Hl 21,940 22,600 2660
201 Let2d| 10,800 10,800 0
01 AtE22(Hl 7,700 7,700 0
Oger=ZH| 4,340
cHIJAREZEHI 140,000& = 12& 1,680
o ZHl =2l 150,000& * 13 150
oHI2H=E 10,000& » 35 » 123 360
obglH EHFY 400,000 * 2K 800
o ZA| EHTRY 270,000 * 1K 270
ocTAE JIEZXNFY
240,000& = 2CH = 13l 480
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== ° T (=) iy o L) ° T NS oS =5 &= 04| AFOH U=sa
OblA™els A4 300,000& * 1CH 300
HHXNHA2ZE 29,300 19,600 9,700
201 LEt23| 4,300 3,400 900
01 AtR2t2lH| 4,300 3,400 900
Ogdt=2H| 4,300
oFAHT SHSSHE 80,000& * 30H 2,400
cREZE HHFSENH 500,000& * 13 500
o 0flFI| =2lbl 96,000& * 5CH 480
SAMMNEALAER 2 70,0003 ~ 6& 420
oZAIN, B2, YA = 100,000& * 53] 500
202 o4 HI 18,000 16,200 1,800
02 MY 18,000 16,200 1,800
OgR=d | 150,000& * 109 = 12& 18,000
401 AIEHIZ 20 7,000 0 7,000
01 Al&HI 7,000 0 7,000
O=0l4dH LCOMZE &AX  7,000,000& * 14 7,000
FOXXHE2H 56,580 56,580 0
FUEH2SXA 56,580 56,580 0
301 etE A= 56,580 56,580 0
05 E-2l-HEEsE43 56,580 56,580 0
Os.c&=g 52,480
ollgsY 200,000& * 16YH = 123 38,400
SRS 200,000& * 16Y = 23| 6,400
oslolaMLe
20,0003 * 16% = 23| » 12& 7,680
o= 25,0002 * 82Y * 23| 4,100
SES A& 120,000 120,000 0
FO=RAY 120,000 120,000 0
A2 F0=JAS 120,000 120,000 0
401 AIEHIZ2b] 120,000 120,000 0
01 Al&HI 120,000 120,000 0
OLALE F0U=SJAAS 120,000,000& * 14 120,000
HHE2AHH(BHS) 20,948 22,000 A1,052
Jl=3 bl 20,948 22,000 A1,052
Jl=23Hl 20,948 22,000 A 1,052
201 LBr23| 9,808 10,200 A392
01 AtR22|H| 7,308 7,700 A392
Ogbr=2H| 5,040
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